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TOPIC:- Units, Dimensions and Measuremennt 

SUB TOPIC:- Unit of Measurement 

1. Light year is a unit of: 

(1) Time      (2) Mass    (3) Distance   (4) Energy                       

2. Which of the following is not equal to watt 

(1)  Joule/ second           (2) Ampere xvolt 

(3) (Ampere)
2
 xohm        (4) Ampere/volt 

3. Newton- second is the unit of 

(1) Velocity                     (2) Angular momentum 

(3) Momentum                (4) Energy 

4. Which of the following is not represented in correct unit 

(1)  Stress/ strain = N/m
2
   

(2) Surface Tension = N/m 

(3) Energy = kg x m/sec     

(4) Pressure = N/m
2
 

5. One nanometer is equal to  

(1) 10
9
mm    (2) 10

-6
cm     (3) 10

-7
 cm    (4) 10

-19
cm 

6. A micron is related to centimetre as 

(1) 1 micron = 10
-8 

cm         (2) 1 micron = 10
-6

cm 

(3)  1 micron = 10
-5

cm           (4) 1micron = 10
-4

cm 

7. The unit of power is  

(1)  Joule                                     

(2) Joule per second only 

(3) Joule per second and watt both 

(4) Only watt 

8. A suitable unit for gravitational constant is:- 

(1)  Kgxm sec
-1

                 (2) N m
-1

 sec 

(3) Nxm
2
 kg

-2
                   (4) kg m sec

-1
 

9. SI unit of pressure is : 

(1)  Pascal                       (2) Dyne /cm
2
 

(3) cm of Hg                    (4) Atmosphere 

10. The unit of stefan’s constant σ is 

(1)  Wm
-2

 K
-1

                  (2) W m
2
 K

-4
 

(3) Wm
-2

 K
-4

                   (4) Wm
-2

K
4
 

11. Which of the following in not a unit of energy: 

(1)  W-s       (2) (kg-m)/sec     (3) N-m       (4) joule 

1- izdk'k o"kZ ek=d gS%& 

¼1½ le; dk   ¼2½ nzO;eku dk ¼3½ nwjh dk   ¼4½ ÅtkZ dk 

2- fuEu ls dkSu&lk ek=d okWV ds rqY; ugha gS%& 

¼1½ twy@lSd.M          ¼2½ ,sfEi;j x oksYV 

¼3½ ¼,sfEi;j½
2
 x vkse       ¼4½ ,sfEi;j@oksYV 

3- U;wVu&lSd.M fdldk ek=d gS% 

¼1½osx dk                ¼2½ dks.kh; laosx dk 

¼3½ laosx dk             ¼4½ ÅtkZ dk  

4- fuEu esa ls dkSu&lk lgh ek=d esa iznf'kZr ugha gS& 

¼1½ izfrcy@fodf̀r ¾ U;wVu@eh
2
 

¼2½ i`"B ruko ¾ U;wVu@ehVj 

¼3½ ÅtkZ ¾ ¼fdyksxzke x ehVj½@lSd.M 

¼4½ nkc ¾ U;wVu@ehVj
2
 

5- ,d uSuksehVj cjkcj gS%& 

(1) 10
9
mm    (2) 10

-6
cm     (3) 10

-7
 cm    (4) 10

-19
cm 

6- ,d ekbØksu rqY; gS 

(1) 1 micron = 10
-8 

cm         (2) 1 micron = 10
-6

cm 

(3)  1 micron = 10
-5

cm           (4) 1micron = 10
-4

cm 

7- 'kfDr dk ek=d gS& 

¼1½ twy 

¼2½ twy@lSd.M  

¼3½ twy@lSd.M vkSj okWV nksuksa 

¼4½ okWV 

8- xq:Rokd"kZ.k fu;rkad ds fy;s mi;qDr ek=d gS%& 

(1)  Kgxm sec
-1

                (2) N m
-1

 sec 

(3) Nxm
2
 kg

-2
                  (4) kg m sec

-1
 

9- SI i)fr esa nkc dk ek=d gS% 

¼1½ ikLdy               ¼2½ Mkbu@lseh
2
 

¼3½ ikjs dh lseh esa yEckbZ  ¼4½ ok;qe.My 

10- LVhQu fu;rkad σ dk el=d gS%& 

(1)  Wm
-2

 K
-1

                  (2) W m
2
 K

-4
 

(3) Wm
-2

 K
-4

                   (4) Wm
-2

K
4
 

11- fuEufyf[kr esa dkSulk ÅtkZ dk ek=d ugha gS& 

(1)  W-S       (2) (kg-m)/sec     (3) N-m       (4) joule 

mailto:twy@lSd.M
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12. Unit of energy in SI system is : 

(1)  Erg        (2) Calorie        (3) Joule     (4) Electron volt 

13. Wavelength of a ray of light is 0.00006m. It is equal to  

(1)  6 microns                       (2) 60 microns   

(3) 600 microns                    (4) 0.6 microns 

14. Electron volt is a unit of : 

(1)  Charge                         (2) Potential difference  

(3) Momentum                  (4) Energy 

15. Temperature can be expressed as a derived quatity in term of 

any of the following:- 

(1)  Length and mass              (2) Mass and time 

(3) Length, mass and time      (4) None of these 

16. Parsec is  a unit of:- 

(1) Distance   (2) Velocity  (3) Time    (4) Angle 

17. If u1 and u2 are the units selected in two system of 

measurement and n1 and 𝑛2 their numerical values,then:- 

(1)  𝑛1u1 = 𝑛2 u2                (2) 𝑢1u1 + 𝑢2u2 = 0 

(3) n1n2 = u1u2                  (4) (n1+u1) = (n2+u2) 

18. 1electron volt is:- 

(1)  same as one joule        (2) 1.6 x 10
-19

 J 

(3) volt                                 (4) 1.6 x 10
-19

C 

19. 1KWH =? 

(1)  1000W     (2) 36x 10
5
J   (3) 1000J    (4) 3600J 

20. One pico farad is equal to:- 

(1)  10
-24

F      (2) 10
-18

F       (3) 10
-12

F    (4) 10
-6

F 

12-  SI i)fr esa ÅtkZ dk ek=d gS& 

¼1½ vxZ      ¼2½ dSyksjh    ¼3½ twy    ¼4½ bySDVªkWu oksYV 

13- izdk'k dh fdj.k dh rjaxnS/;Z 0-00006 ehVj gSA ;g cjkcj gS 

(1)  6 microns                       (2) 60 microns  

(3) 600 microns                    (4) 0.6 microns 

14- bySDVªkWu oksYV ek=d gS& 

¼1½ vkos'k                   ¼2½ foHkokUrj 

¼3½ laosx                    ¼4½ ÅtkZ 

15- rki dks fuEu esa ls fdl O;qRiUu ek=d ds :i esa iznf'kZr 

fd;k tk ldrk gSA 

¼1½ yEckbZ vkSj nzO;eku       ¼2½ nzO;eku vkSj le; 

¼3½ yEckbZ] nzO;eku vkSj le;  ¼4½ buesa ls dksbZ ugha 

16- ikjlsd ek=d gS& 

¼1½ nwjh dk  ¼2½ osx dk   ¼3½ le; dk   ¼4½ dks.k dk 

17- ;fn ekiu dh nks i)fr;ksa esa u1 o u2 nks ek=d pqus x;s gSA 

rFkk muds vf/kd eku n1 o n2 gS rks& 

(1)  𝑛1u1 = 𝑛2 u2                (2) 𝑢1u1 + 𝑢2u2 = 0 

(3) n1n2 = u1u2                  (4) (n1+u1) = (n2+u2) 

18- ,d bysDVªkWu oksYV gS& 

(1)  ,d twy ds rqY;          (2) 1.6 x 10
-19

 J 

(3) ,d oksYV                        (4) 1.6 x 10
-19

C 

19- ,d fdyksokWV ?k.Vk cjkcj gS& 

(1)  1000W     (2) 36x 10
5
    (3) 1000J    (4) 3600J 

20- ,d fidks QSjM+ cjkcj gS%& 

(1)  10
-24

F      (2) 10
-18

J       (3) 10
-12

F    (4) 10
-6

F 
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Question 1 2 3 4 5 

Answer 3 4 3 3 3 

Question 6 7 8 9 10 

Answer 4 3 3 1 3 

Question 11 12 13 14 15 

Answer 2 3 2 4 4 

Question 16 17 18 19 20 

Answer 1 1 2 2 3 

 


